Math 1190.002





Name: _________________________
Time: 60 minutes.







TEST#3





  
ID #: _________________________

Read questions carefully and answer. Number in the parenthesis shows the marks assigned for each part of the problem. SHOW ALL WORK FOR PARTIAL CREDIT.

1.  (15) Find the area under the graph over the interval [-2, 1]: 
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2.  (8 each) Find the derivative for any four of the following: 

a.   
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e. 
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3. (8 each) Evaluate any five of the following: 

a. 
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e. 
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f. 
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4. (13)Find the function f(x) such that 
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 and f(0)=7. 
5. (Extra Credit: 5 Points) Solve for x: 
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